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e E X 1] 500 20 RC 5 S47 A—2
A HFEIR 10 600 30 RC 5 S49 A—2
e E X 1] 700 30 RC 5 S49 A—2
A HFEIR =1 900 30 RC 5 S49 A—2
EAMHMEIX =gl 1000 30 RC 5 S49 A—2
A HFEIR 10 1100 20 RC 5 S49 A—2
e E X 1] 1200 30 RC 5 S47 A—2
AP R R 10 1300 30 RC 5 S46 A—2
Je P E X UPPZ PR VS 1 60 RC 9 R2 A—1
A meE R VI Er B R 1 6 PN 3 R3 A—1
Je P E X YR N E 2 15 PN 3 R3 A—1
b AN ERR EFH 200 8 RC 4 S35 A—2
M TAERR U ZPa=111 1 38 RC 7 H26 A—1
EAMTRER )] 1 12 RC 4 S30 A—2
dAMHmFER T He 2 24 RC 4 S30 A—2
EAMERER )] 3 16 RC 4 S31 A—2
dAMHmFER T He 4 32 RC 4 S30 A—2
EAMTRER )] 5 24 RC 4 S30 A—2
dAMHmFER T He 6 24 RC 4 S30 A—2
EAMERER )] 7 24 RC 4 S30 A—2
JAMHFER T H 8 32 RC 4 S30 A—2
dAMHFER EVYNIY-2 A 9 xR 3 R4 A—1
dAMHmFER EVYNI\Y-2 B 9 PN 3 R4 A—1
dAMHREER hivy INgE C 15 7N 3 R5 A—1
drmdmhEILR TE|ZE 8 16 RC 4 S31 A—2
drmm/hEILRE TEE 9 16 RC 4 S31 A—2
drmdmhEILR TE|ZE 10 12 RC 4 S31 A—2
drmm/hEILRE TEE 11 12 RC 4 S31 A—2
drmdmhEILR TE|ZE 12 24 RC 4 S31 A—2
drmm/hEILRE TEE 13 24 RC 4 S31 A—2
drmdmhEILR TE|ZE 14 24 RC 4 S31 A—2
drmm/hEILRE TEE 15 8 RC 4 S31 A—2
drmmhEILR TE|ZE 16 8 RC 4 S31 A—2
drmm/hEILRE TEE 17 8 RC 4 S31 A—2
drmmhEILR TE|ZE 18 8 RC 4 S31 A—2
drmm/hEILRE TEE 19 8 RC 4 S31 A—2
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drmm/hELRE TEE 20 8 RC 4 S31 A—2
drmmhEILR HHYE 1 24 RC 4 S35 A—2
damm/hEILRE gHrE 2 24 RC 4 S35 A—2
drmdmhEILR HHYE 3 24 RC 4 S35 A—2
dAmm/hElRE HHyE 4 24 RC 4 S35 A—2
drmdmhEILR 3 1 12 RC 3 S29 A—2
drmm/hEILRE b H 2 12 RC 3 S29 A—2
drmdmhEILR 3 3 12 RC 3 S29 A—2
damm/hEILRE b H 4 32 RC 4 S29 A—2
drmdmhEILR 3 5 32 RC 4 S30 A—2
damm/hELRE aFis 6 18 RC 3 S30 A—2
MmN EILR 95Vt ARET 21 56 SRC 14 H10 A—1
drmm/hEILRE 979 F Y ARHET 22 65 SRC 14 H10 A—1
drmmhEILR 9791V KET 23 52 SRC 14 H11 A—1
drmm/hEILRE 979 F Y RHET 24 39 SRC 14 H12 A—1
JEamm/hEIER Ve Z Pzl 25 52 SRC 14 H8 A—1
dAmm/hELRE Y9V RETT 299 A 1 133 RC 14 H17 A—1
MmN ERR A 100 30 RC 5 S44 A—2
dAmmhEER i 200 30 RC 5 S44 A—2
JEamm/hERR A 300 30 RC 5 S49 A—2
dAmmhEER & 1000 30 RC 5 S51 A—2
drmmhERER z 2000 30 RC 5 S51 A—2
dAmmhEER & 3000 30 RC 5 S51 A—2
drmmhEER z 4000 30 RC 5 S52 A—2
dAmmhEER & 5000 30 RC 5 S52 A—2
drmmhERER z 6000 30 RC 5 S52 A—2
dAmmhEER & 7000 30 RC 5 S52 A—2
dAmmhEER z 8000 30 RC 5 S54 A—2
| R AN Tif] = EREG 1 24 RC 3 S29 A—2
Bl R s AN T ERIG 2 18 RC 3 S29 A—2
| R AN Tif] = SR 3 18 RC 3 S29 A—2
Jt A T /&R X ERIG 4 24 RC 4 S30 A—2
e /BT X R 100 24 RC 4 335 A—2
B R AN i R 200 24 RC 4 S35 A—2
Bl 0 AN i) R 300 24 RC 4 S36 A—2
B R AN i R 400 24 RC 4 S36 A—2
e /BT X R 500 32 RC 4 S36 A—2
B R AN i R 600 24 RC 4 S37 A—2
e /BT X R 700 32 RC 4 S37 A—2
Jt A /\BE TR X R 800 8 RC 4 S38 A—2
e A /BT X E 100 16 RC 4 S41 A—2
B R AN i INE 200 16 RC 4 S41 A—2
e A /BT X E 300 16 RC 4 S41 A—2
B R AN i INE 400 16 RC 4 S42 A—2
e A /BT X E 500 16 RC 4 S42 A—2
| R AN ] =3 INE 600 16 RC 4 S42 A—2
e A /BT X INGE 100 40 RC 5 S43 A—2
| R AN ] =3 INGE 200 30 RC 5 S43 A—2




o7 M it % HES R s 4% g2 | mER
e A /BT X = 100 30 RC 5 S48 A—2
B R AN i ! 200 30 RC 5 S48 A—2
e A /ST X = 300 30 RC 5 S46 A—2
B R AN i ! 400 30 RC 5 S46 A—2
e A /BT X = 500 30 RC 5 S47 A—2
B R AN i ! 600 30 RC 5 S47 A—2
e A /BT X = 700 20 RC 5 S49 A—2
B R AN i ! 800 40 RC 5 S49 A—2
e A /BT X = 900 50 RC 5 S50 A—2
B R AN i ! 1000 20 RC 5 S50 A—2
e AT /\EETE X = 1100 40 RC 5 S50 A—2
| R AN ] =3 ! 1200 30 RC 5 S50 A—2
e A /ST X PN i 1000 30 RC 5 S51 A—2
Bl R s AN T 8 Vi 2000 30 RC 5 S52 A—2
e A /BT X PN 3000 30 RC 5 S53 A—2
Bl R s AN T Vi 4000 30 RC 5 S53 A—2
e A /BT X PN 5000 20 RC 5 S52 A—2
Bl R s AN T 8 V8] 6000 40 RC 5 S51 A—2
e A\ EE TR X S| 7000 30 RC 5 S52 A—2
Bl R s AN T ARy h g 100 10 RC 5 S59 A—1
Bl 0 AN i) ARk e g 200 30 RC 5 S59 A—1
Bl R s AN T ARy h g 300 40 RC 5 S60 A—1
e/ BT X ARk e g 400 20 RC 5 S60 A—1
Jt A /\BE TR X Righ g 500 30 RC 5 H1 A—1
fEREHERERX SFR 100 40 RC 5 S46 A—2
ERmERER E 2N 200 40 RC 5 S46 A—2
fEREHERERX FR 300 30 RC 5 S46 A—2
ERmERER E 2N 400 30 RC 5 S46 A—2
fEREHERERX SFR 600 30 RC 5 S47 A—2
ERmERER E 2N 700 20 RC 5 S47 A—2
fEREHERERRX FR 800 40 RC 5 S47 A—2
ERmERER E 2N 900 30 RC 5 S48 A—2
fEREHERERX SFR 1000 40 RC 5 S48 A—2
ERmERER E 2N 1100 30 RC 5 S48 A—2
fEREHERERX SFR 1200 20 RC 5 S48 A—2
ERmERER E 2N 1300 20 RC 5 S48 A—2
R HERERX TR 1400 20 RC 5 S50 A—2
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ERmER NI 1000 12 3 S39

fRf T ERX I 2000 24 4 S39 A—2
ERmER NS 3000 24 4 S40 A—2
fRf T ERX I 4000 24 4 S38 A—2
ERmER N5 5000 24 4 S38 A—2
ERmERER P 6000 16 4 S40 A—2
ERmER NS 7000 16 4 S40 A—2
ERmERER A 8000 24 4 S41 A—2
ERmER NS 9000 24 4 S41 A—2
ERmERER P 10000 16 4 S41 A—2
ERmER PR 11000 16 4 S41 A—2
ERmERER I 12000 8 4 S41 A—2
ERmER PR 13000 16 4 S42 A—2
ERmERER P 14000 16 4 S42 A—2
ERmER N5 15000 24 4 S43 A—2
fafE TR X NI 16000 24 4 S43 A—2
fEREHERERX 2E 100 20 5 S43 A—2
fRf T ERX 25 200 30 5 S43 A—2
fEREHEREREX 25 300 30 5 S44 A—2
fRf T ERX 25 400 30 5 S44 A—2
fEREHERERX 2E 500 40 5 S44 A—2
fRf T ERX 25 600 40 5 S44 A—2
fEREHERERX 25 700 30 5 S45 A—2
fRf T ERX 25 800 30 5 S45 A—2
fEREHERERX 2E 900 30 5 S45 A—2
ERHER £8 1000 20 5 S45 A—2
fEREHERERX 25 1100 20 5 S44 A—2
ERHERER ZE 1200 10 5 S45 A—2
ERmER 19VEFFR 1 150 9 H12 A—1
EEHER 17Vt TR 2 28 6 H12 A—1
fERmER UEZ L N 1 115 10 H15 A—1
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fEEmhEX INEE 26 32 RC 4 333 A—2
EETRRER INE 27 24 RC 4 S33 A—2
fEEmhEX INEE 28 16 RC 4 S33 A—2
EETPRER INE 29 24 RC 4 S33 A—2
fEEmhREX INEE 30 16 RC 4 S33 A—2
EETPRER INGE 31 16 RC 4 S33 A—2
fEEmhEX INEE 32 16 RC 4 S33 A—2
EETPRER INGE 33 16 RC 4 S33 A—2
fEEmhEX INEE 34 24 RC 4 S33 A—2
EETPRER INE 35 24 RC 4 S33 A—2
fEEmhEX INEE 36 16 RC 4 S33 A—2
EETRRER INGE 37 16 RC 4 S33 A—2
fEEmhREX INEE 38 24 RC 4 S34 A—2
EETPRER INE 39 24 RC 4 S34 A—2
fEEmhEX INEE 40 24 RC 4 S34 A—2
EETPRER INGE 41 16 RC 4 S34 A—2
fEEmhEX INEE 42 16 RC 4 S34 A—2
EETPRER INGE 43 16 RC 4 S34 A—2
fEEmhEX INEE 44 16 RC 4 S34 A—2
EETPRER INE 45 24 RC 4 S34 A—2
fEEmhEX INEE 46 16 RC 4 S34 A—2
EETPRER INGE 47 16 RC 4 S34 A—2
fEEmhEX INEE 48 16 RC 4 S34 A—2
EETPRER INE 52 20 RC 5 S48 A—2
fEEmhEX INEE 53 20 RC 5 S48 A—2
EETPRER INE 54 8 RC 4 S48 A—2
Rl mh R X INEE 55 30 RC 5 S48 A—2
tERmP R 7307 1 VEEE 56 39 RC 5 H6 A—1
fERmERRE DTV EVRRIR 1 81 RC 14 H8 A—1
tERmP R UPZPLE S 2 90 RC 9 H8 A—1
fEEmh R X hvtVEET 1 182 RC 13 H17 A—1
tERmP R HFVF AT 1 68 RC 8 H18 A—1
fEEmhEX hvtvINEILF 1 57 RC 7 H26 A—1
ERmRRX UZ VNS 2 39 RC 9 H26 A—1
fEEmhEX hvtvINEILF 3 96 RC 12 H29 A—1
faf R RX UBZ VNS 4 49 RC 13 R1 A—1
fEEmhEX hvtvINEILF 5 51 RC 6 R1 A—1
tERmP R H79FvINEILTF 6 18 RC 5 R1 A—1
R TR X 2% 100 30 RC 5 345 A—2
EETER 2% 200 30 RC 5 S45 A—2
R HE X mRE 1 30 RC 5 S51 A—2
e x UPZ PPN 1 96 RC 7 H19 A—1
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R THEX =157 78 10 RC 5 S59 A—1
LEtE i =3 =107 79 20 RC 5 S59 A—1
R THEX =157 80 20 RC 5 S58 A—1
LR it =3 =107 81 20 RC 5 S52 A—2
fEETHEX =157 82 40 RC 5 S51 A—2
LR i =3 =107 83 40 RC 5 S52 A—2
fEETHEX Sk 84 40 RC 5 S50 A—2
LR i =3 =107 85 30 RC 5 S50 A—2
ERmER =157 86 30 RC 5 S55 A—2
LR i =3 =107 87 20 RC 5 S55 A—2
R THEX =157 88 20 RC 5 S60 A—1
LEtE i =3 =107 89 20 RC 5 S60 A—1
fEETHEX =157 90 30 RC 5 S61 A—1
LR i =3 =107 91 20 RC 5 S62 A—1
fEETHEX Sk 92 20 RC 5 S62 A—1
12X =1l 137 20 RC 5 S59 A—1
EERHmRERX U AIVEE 1 96 RC 8 H10 A—1
fRETRERX VeZ VLt i} 1 142 RC 13 H15 A—1
EERHmRERX b ZVbihAN 1 103 RC 11 H17 A—1
ERmERERX Y1V RIG 1 77 RC 7 H18 A—1
REHS =N 1 24 RC 4 S35 A—2
REHT =W 2 24 RC 4 S35 A—2
REHT B 3 32 RC 4 S36 A—2
AR KT INRE 100 12 RC 4 S35 A—2
AKX INREP 200 12 RC 4 S35 A—2
AB K™ INREF 300 24 RC 4 S36 A—2
AKX INREP 400 24 RC 4 S36 A—2
AB K™ INREF 500 24 RC 4 S37 A—2
AKX INREP 600 24 RC 4 S37 A—2
AB K™ INREF 700 24 RC 4 S38 A—2
AKX INREP 800 24 RC 4 S39 A—2
AB K™ TR 100 30 RC 5 S45 A—2
AKX TR 200 28 RC 5 S46 A—2
AB K™ TR 300 30 RC 5 S48 A—2
AKX =BR 14000 10 RC 5 S51 A—2
AB K™ =2RA 15000 30 RC 5 S50 A—2
AKX =BR 16000 30 RC 5 S49 A—2
AB K™ =2RA 17000 30 RC 5 S49 A—2
AKX =BR 18000 30 RC 5 S48 A—2
AB K™ =2RA 19000 30 RC 5 S48 A—2
AKX =BR 20000 20 RC 5 S49 A—2
AB K™ =2RA 21000 20 RC 5 S49 A—2
AKX =BR 22000 30 RC 5 S47 A—2
AB K™ =2BA 23000 30 RC 5 S47 A—2
ABK™ =l 1000 40 RC 5 S52 A—2
AB K™ =l 2000 40 RC 5 S53 A—2
AB K™ 7T IVERRA 1 30 RC 5 H6 A—1
AB K™ UPPZ VU EVNEED] 1 70 RC 14 H20 A—1
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hRE™H Evh 1000 20 RC 5 S53 A—2
™ Exr0F 2000 30 RC 5 S53 A—2
hRE™H Evh 3000 40 RC 5 S53 A—2
™ Exr0F 4000 40 RC 5 S54 A—2
hRE™H Evh 5000 40 RC 5 S54 A—2
™ Er0F 6000 40 RC 5 S54 A—2
hRE™H Evh 7000 30 RC 5 S56 A—1
™ Er0 8000 30 RC 5 S58 A—1
hRE™H Evh 9000 20 RC 5 S57 A—1
™ ErF 10000 20 RC 5 S57 A—1
INBRTR KikF+ 1000 30 RC 5 S53 A—2
INERT KixF* 2000 30 RC 5 S53 A—2
INBRTR KikF+ 3000 20 RC 5 S54 A—2
INERT KixF* 4000 10 RC 5 S54 A—2
INBRTR KikF+ 5000 20 RC 5 S57 A—1
INERT KixF* 6000 20 RC 5 S57 A—1
INBRT KirF+ 7000 20 RC 5 S57 A—1
MEHH ES 1 40 RC 5 S47 A—2
AEHTH £ 2 40 RC 5 S47 A—2
MEHH HET 1000 16 RC 4 S53 A—2
AEHTH AT 2000 32 RC 4 S53 A—2
MEHH mETEE2 1 20 RC 5 S54 A—2
AEHTH mATE2 2 20 RC 5 S54 A—2
AEHH 2 1000 40 RC 5 S56 A—1
AEHTH Uy Ve = 1 66 RC 7 H22 A—1
KEF T TRF 1 16 RC 4 S49 A—2
REF TXRF 2 24 RC 4 S49 A—2
AZERFH EBATHE 10 30 RC 5 S45 A—2
AERFH EBAFHE 11 30 RC 5 S45 A—2
AZERFH EBATHE 12 30 RC 5 S46 A—2
AERFH EBAFHE 13 30 RC 5 S46 A—2
AZERFH EBATHE 14 30 RC 5 S44 A—2
AZERFH EBAFIE 15 16 RC 4 S43 A—2
it B 1000 20 RC 5 S52 A—2
t2iEm R1ERM 2000 16 RC 4 S43 A—2
it B 3000 30 RC 5 S45 A—2
t2iEm R1ERM 4000 24 RC 4 S41 A—2
it B 5000 16 RC 4 S40 A—2
t2iEm R1ERM 7000 30 RC 5 S47 A—2
it B 8000 8 RC 4 S50 A—2
t2iEm R1ERM 9000 20 RC 5 S50 A—2
it B 10000 30 RC 5 S50 A—2
t2iEm R1ERM 11000 20 RC 5 S51 A—2
it B 12000 20 RC 5 S51 A—2
t2iEm R1ERM 13000 20 RC 5 S51 A—2
it B 14000 20 RC 5 S52 A—2
t2iEm R1ERM 15000 20 RC 5 S52 A—2
it B 16000 20 RC 5 S52 A—2
t2Em EX 17000 20 RC 5 S52 A—2
i1 F AT ML 1000 12 RC 3 H6 A—1
kif EH BT B[ 2000 12 RC 3 H6 A—1
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L EHT =30)::] 1 1 PN 1 H10 A—1
L EHT EDE 2 1 N 1 H10 A—1
L EHT J=30)::] 3 1 PN 1 H10 A—1
L EHT EDE 4 1 N 1 H10 A—1
L EHT =30)::] 5 1 PN 1 H10 A—1
LEEfT EDE 6 1 /N 1 H10 A—1
L EHT =30)::] 7 1 PN 1 H10 A—1
L EfT EDE 8 1 /N 1 H10 A—1
L EHT EOE 9 1 PN 1 H10 A—1
L EHT EDE 10 1 /N 1 H10 A—1
L EHT J=30)::] 11 1 xR 1 H10 A—1
L EHT EnBR 12 1 K 1 H10 A—1




